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OMS Counhng in 10s

Skart ot any given number and count up or down from it in |Os. Discuss the Poﬂerns

that you notice.
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WALT: Solve one-step Problems that involve addition and miss‘mg numbers where both sides are eclual.
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WALT: Solve one-skep Problems that involve addilion and miss'mg numbers where both sides are equo,l.

EXP[O re.
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WALT: Solve one—step Problems that involve addition and missing numbers where both sides are equal.
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WALT: Solve one—step Problems that involve addition and missing numbers where both sides are equal.

= 50

EXP[O re.

3/ +

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

29

30

31

32

33

34

35

36

N/

) 38

39

40

41

42

43

44

45

46

47

48

49

50

51

52

53

54

55

56

57

58

59

60

61

62

63

64

65

66

67

68

69

/0

71

72

73

74

75

76

77

78

79

80

81

82

83

84

85

86

87

88

89

Q0

91

92

93

94

95

96

q7

Q8

qq

100




WALT: Solve one-step Problems that involve addition and missing numbers where both sides are equal.

‘ Explore:
+8 =10

3+ /=

+0=10

(Number line on Slide 10 LJ.‘ required)
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WALT: Solve ane-skep problem

A . Explore
+ 18 = 20

3+ /=

+ 0 =20

(Number line on Slide 10 LJ.‘ required)
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+ 18 = 30
33+ /=
+ 0 =50
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You need:

2 dice and o pen

Roll both dice.

Add or sublract or mulhplﬂ both of the dice thrown.

CFOSS out a number on H’le boo,rcl Wl’llCh makches HOU«T‘ l70t0,l.

The winner is H’LG PlOHer ITO 96[7 [I- scluo,res angwhere an H’IC lDOCLI"d.




